Math 173 - Quiz 3 Name __ Key
February 2, 2012 <

Score

Show all work to receive full credit. Supply explanations when necessary.

1. (3 points) Find a set of symmetric equations for the line passing through the points
(5 2,3) and (7,-1, 3).
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2. (1 point) Find a unit vector normal to the plane —2z + 3y — 52 = 10.
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3. (3 points) Find an equation of the plane passing through the points P(2, 0 3), Q(1,-1,5),
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4. (3 points) The line ¢, whose parametric equations are glven\be‘fﬁ\Tv“dUemoT‘c—r’ﬁﬁ"]
through the plane 3z + 5y — 2 = 5. Find the distance from the line to the plane.
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